TABELA ROBOT ZIEMNYCH

ZUZYCIE
SREDNIA NA NADMIAR SUMA
LP kM| HM | POWIERZCHNIA | POWIERZCHNIA |ODL. OBJETOSC |MIEJSCU| OBJETOSCI | ALGEBRAICZNA
wykop (+)[ nasyp (-)jwykop (+)| nasyp (-) wykop (+)nasyp (-) wykop (+)nasyp (- + Q]
PO 0 3,50 0,00 0,00
4,72 0,00 17,23 81,24 0,00 0,00 81,24 0,00
P-1 0] 20,73 9,43 0,00 81,24
9,72 0,00 15,00 145,73 0,00 0,00 145,73 0,00
P-2 0] 35,73 10,00 0,00 226,96
8,50 0,05 15,00 127,43 0,68 0,68 126,75 0,00
P-3 0] 50,73 6,99 0,09 353,71
7,19 0,07 15,00 107,85 0,98 0,98 106,88 0,00
P-4 0] 65,73 7,39 0,04 460,59
8,17 0,02 18,00 146,97 0,36 0,36 146,61 0,00
P-5 0] 83,73 8,94 0,00 607,20
6,26 0,06 17,00 106,34 0,94 0,94 105,40 0,00
P-6 0f 100,73 3,57 0,11 712,60
1,79 0,06 21,00 37,49 1,16 1,16 36,33 0,00
KO 0] 121,73 0,00 0,00 748,93
RAZEM 753,03 4,10 4,10 748,93 0,00 748,93
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